1/17/2020

Operator cum Mechanic Trainee

Disclaimer: Displayed questions are not as per the sequence in which candidate has actually attempted the questions

in question paper.

Post Name: Operator cum Mechanic Trainee

SECTION 1 - GENERAL KNOWLEDGE

Question No.1

SIRTAES]

(B) O Cairo
g8

(C) O Aizawl
z)wsé

SrdDoco

Which is the wettest place in the world?
800 TS PSS ot B o VB0 IB?

(A) O Cape Town

(D) O Mawsynram

1.00

Question No.2

(A) O Volleyball
TodereS

(B) O Cricket
aas

(C) O Chess
W& Gofio

(D) O Tennis
eBD‘lfo

The term "Leg Before Wicket" is associated with

"GFA D6 DEES" 9D HSo £ 2000V

1.00

Question No.3

(A) O Bandung
erocsr0n

(B) O London
Q0L

(C) O Belgrade
BSEE

(D) O New York
Qg0

Where was the first Non-aligned movement summit held?
208 DT g0 DERY D) ¢ 206A0B?

1.00

Question No.4

What is the expansion of the acronym 'IMO’ (an International organisation)?
IMO' (208 e00grBa ©0y) @3 £ 6rards DYee IE?
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1/17/2020 Operator cum Mechanic Trainee
(A) O International Maritime Organization
'aoeoé‘)"élées &0°8&30 ug&é‘fqﬁ)

(B) O Indian Moffosal Organisation
Q000D XIS eagga?,:qS

(C) O Indian Metro Organizational
Q0GOS 0’ GIBNNS

(D) O International Medical Organisation
Q08) VS 2SS BGISND

Question No.5 1.00

Which one of the following is an example of Exogenic forces?
$00 TBS” w21 (IEVEIE) werot & 267

(A) O Earthquake
30,8000

(B) O Landslide
Eoct wsoaen DBADEL(erolRE)

(C) O Volcano
Q00 DO b@baao

(D) O Sea-waves
DB -SGorren

Question No.6 1.00

Which one of the following National Parks is located in Assam?
$00 B0 FEYVS’ DB VIS’ Gots?

(A) O Manas National Park
JdD rdaH J )

(B) O Jim Corbett National Park
20 52035 2oL Je);

(C) O Silent Valley National Park
50e5 3’53) 2 Aak F)

(D) O Namdapha National Park
Dot &dab Fad)

Question No.7 1.00

Which one of the following cities was known as the Cottonopolis of India?
800 D JT° DY TRSTDD D QAT DLV E?

(A) O Nagpur
I et ey ile)

(B) O Mumbai
ENALTA)

(C) O Nashik
08

(D) O Pune
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ES) 1]

Question No.8 1.00

Which of the following banks launched the world's first block chain based bond called 'Bond-i'?
8o& TDS° D EPfo) 000305’ D 2008 0GB “erob - 0" D DeHLE g8 BaND VTS erobad

F60DoD0O?

(A) O International Monetary Fund
oI AAD @iy A&

(B) O Asian Development Bank
DD0HD BHVHDL 83‘50§

(C) O New Development Bank
Qv GOVDEL eav5o§

(D) O World Bank
L0 erjodd

Question No.9 1.00

Which of the following chemicals are commonly known as Greenhouse gases?
808 TS’ JEPEE0M™ HDITTD STPOINNLOTT VDG SIPOTLD JDo?

(A) O Hydrogen chloride and Calcium carbonate
TE2S §9& 20005 5°Qak0 YIS

(B) O Carbon dioxide and Methane
S°6)D GoIrgyE S8k DBD

(C) O Ethylene and Sodium Hydroxide
2608 20o0sw Vdabo TEsE

(D) O Propylene and Sulfuric acid
THOS 200030 ey 08 e

Question No.10 1.00

In June 2019, the 20th Meeting of Financial Stability and Development Council (FSDC) was held
under the Chairmanship of
S 2019 &° 2508 BB L0B0KD BDHB 0td (FSDC) cdng); 20 H dArDo

esc_55§e‘3x> 20008.

(A) O Shaktikanta Das
335708 TR

(B) O Amitabh Kant
9T°E) S0

(C) O Nirmala Sitharaman
DB e DET D

(D) O Ajay Tyagi
9203 (o)

Question No.11 1.00

Which of the following is not a neighbouring country of India?
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(B) O

) O

(D) O

Operator cum Mechanic Trainee

800 TS erEBBT IS VOPG B0 G I&?

(A) O Nepal
dJeS

Belgium

Sdodo
£

Pakistan

>aP5

China

S

(A) O

B) O

() O

(D) O

Question No.12

The functional segments of DNA is
GIDD S°D Gosre S erriaen

Mitochondria
e’ srodaire

Egg
€900

Ribosomes
BeS° S doen

Genes
aéoﬁ;w

1.00

(A) O

Question No.13

In financial terms, what is the expansion of "GST"?
8EDERD DEVS” "GST" L DYSes 60 IE?

General and Services Tax
23665 ok 7065?050 e3°§3

Goods and Sales Tax
Goods and Services Tax
ﬁJ‘&D 0ol '&85705 U"éb

Goods and Security Tax
(i)"&b o0& ?055"5063 éJ"gb

1.00
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Question No.14

What was the name of the women's regiment of Indian National Army?
2B A0 PIE BF0eS® BLPYe BRRVoS DA AAB?

(A) O Rani Raziya Begum Regiment

ool 20350 &350 B20ed

(B) O Rani of Jhansi Regiment

o°e3 dw.‘()b 8208

(C) O Rani Chennamma Regiment

o°ed DY 0y, B0

1.00
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(D) O Rani Velu Nachiyar Regiment
T°Ed e A3TE B2od

Question No.15 1.00

Which of the following International lines lies between India and Pakistan?
306 eeoe:egoe‘.’ao:b B 288 L0BA3D PSP 206 €s007?

(A) O Durand Line
ool B

(B) O Radcliffe Line
0°5£§§> S

(C) O Maginot Line
JASES B

(D) O Hindenburg Line
Troied S

Question No.16 1.00

The Mahatma Gandhi National Rural Employment Guarantee Scheme aims to provide minimum
in a financial year
0T, o 2SO TPVEd &G D DEEHD 28 08 RoDBYBoeS” €0 &

€900tV Vg orr 490 &od

(A) O 100 days of wage employment
100 Bare HdS &

(B) O 200 days of wage employment
200 Bere D3 &

(C) O 60 days of wage employment
60 Bere D3 &0

(D) O 300 days of wage employment
300 Sere) HD &0

Question No.17 1.00

Who is the new Controller General of Accounts (CGA) in the Department of Expenditure?
S50 T ABIS DS VoA Soff’b BHGS 8D WS oty (CGA) d56?

(A) O Arjun Reddy
esng el

(B) O JP Nadda
& dge
G
(C) O Giriraj Prasad Gupta
AdBoeE HIS o

(D) O Rajiv menon
TBD DS

Question No.18 1.00

Who is the chairman of NITI Aayog?
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NITI esaBf 6 Dc?

(A) O The Governor
(1566

(B) O The Chief Minister
ESRAEMENREY)

(C) O The Finance Minister
0588 3000

(D) O The Prime Minister
VEIV0B

Operator cum Mechanic Trainee

Question No.19

(A) O Bhawana Kanth
APOHT® S°0D

(B) O Yediyurappa
(ﬂ)doli)."é&)h

(C) O Rajasekhar
o306

(D) O Kumara Raja
E05°8 Toer

1.00

Recently, who took oath as 31st Chief Minister of Karnataka by Governor Vajubhai Vala?
BB, T (196) 6 Terardl Trer & §07) 08 7 31 3 B0eiodmT HHPe VIS0 SRV JHEH?

Question No.20

(A) O Madhya Pradesh
235039

(B) O Rajasthan
maeg%

(C) O Assam
@5"’30

(D) O West Bengal
K)'?()Q) &Borres

1.00

Which State celebrates the Khajuraho Dance festival?
2263F )ty DEER BERDLD T°Po IB?

SECTION 2 - WORKING ENGLISH

Question No.1

(A) O Sluggish
Sluggish

(B) O Provoke
Provoke

(C) O Assist
Assist

(D) O Convince

1.00

Choose the word which expresses nearly the opposite meaning of the given word " PROMPT "
Choose the word which expresses nearly the opposite meaning of the given word " PROMPT "

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Operator_cum_Mechanic_Trainee.html

6/42



1/17/2020 Operator cum Mechanic Trainee
Convince

Question No.2 1.00

Choose the word which best expresses the similar meaning of the given word " DESOLATE "
Choose the word which best expresses the similar meaning of the given word " DESOLATE "
(A) O Pleasant

Pleasant
(B) O Abandoned

Abandoned
(C) O Restored

Restored

(D) O Bland
Bland

Question No.3 1.00

Choose the word which expresses nearly the opposite meaning of the given word " TRANQUIL "
Choose the word which expresses nearly the opposite meaning of the given word " TRANQUIL "
(A) O Excitable

Excitable

(B) O Peaceful
Peaceful

(C) O Patient
Patient

(D) O Agreeable
Agreeable

Question No.4 1.00

Choose the word which best expresses the similar meaning of the given word " STRIDENT "
Choose the word which best expresses the similar meaning of the given word " STRIDENT "
(A) O Harsh

Harsh

(B) O Subdued
Subdued

(C) O Moderate
Moderate

(D) O Silent
Silent

Question No.5 1.00

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Goverment

Goverment

(B) O Developmant
Developmant

(C) O Financiel
Financiel

(D) O Linguistic
Linguistic

Question No.6 1.00

Choose the word which best expresses the similar meaning of the given word " CURTAIL "
Choose the word which best expresses the similar meaning of the given word " CURTAIL "
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(A) O Enlarge
Enlarge

(B) O Develop
Develop

(C) O Truncate
Truncate

(D) O Zealous
Zealous

Question No.7 1.00
Fill in the blanks with suitable Article from the given alternatives.

She read book yesterday
Fill in the blanks with suitable Article from the given alternatives.

She read book yesterday
(A) O No article
No article
(B) O the
the
C)O a
a
(D) O an

an

Question No.8 1.00
Fill in the blanks with suitable Preposition from the given alternatives.

Australia consolidated their lead the ongoing Ashes cricket series
Fill in the blanks with suitable Preposition from the given alternatives.

Australia consolidated their lead the ongoing Ashes cricket series
(A) O against
against
(B) O at
at
(C) O on
on
(D) O in

in

Question No.9 1.00

Choose the word which best expresses the similar meaning of the given word " WRANGLE "
Choose the word which best expresses the similar meaning of the given word " WRANGLE "
(A) O Argument

Argument

(B) O Harmony
Harmony

(C) O Agreement
Agreement

(D) O Upgrade
Upgrade

Question No.10 1.00

Choose the word which expresses nearly the opposite meaning of the given word " DISGUISE "
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Choose the word which expresses nearly the opposite meaning of the given word " DISGUISE "
(A) O Blind
Blind
(B) O Guise
Guise

(C) O Honesty
Honesty

(D) O Pretense
Pretense

Question No.11 1.00

Choose the word which expresses nearly the opposite meaning of the given word " TAINTED "
Choose the word which expresses nearly the opposite meaning of the given word " TAINTED "
(A) O Nice

Nice
(B) O Impure

Impure
(C) O Spoiled

Spoiled
(D) O Decayed

Decayed

Question No.12 1.00

Choose the word which best expresses the similar meaning of the given word " PULCHRITUDE "
Choose the word which best expresses the similar meaning of the given word " PULCHRITUDE "
(A) O Ugliness

Ugliness
(B) O Elegance

Elegance

(C) O Roughness
Roughness

(D) O Offensive
Offensive

Question No.13 1.00
Fill in the blanks with suitable Article from the given alternatives.

Rheumatoid arthritis is autoimmune disease in which the body's immune system
mistakenly attacks its own tissues
Fill in the blanks with suitable Article from the given alternatives.

Rheumatoid arthritis is autoimmune disease in which the body's immune system
mistakenly attacks its own tissues

(A) O an
an

(B) O the
the

©) O a
a

(D) O No article
No article

Question No.14 1.00

Fill in the blanks with suitable Preposition from the given alternatives.
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It has been raining Morning

It has been raining Morning
(A) O since
since
(B) O over
over
(C) O by
by
(D) O across
across

Operator cum Mechanic Trainee

Fill in the blanks with suitable Preposition from the given alternatives.

Question No.15

(A) O Sentimant
Sentimant

(B) O Indivdual
Indivdual

(C) O Harangue
Harangue

(D) O Necesary
Necesary

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

1.00

Question No.16

(A) O Breething
Breething

(B) O Perfomance
Perfomance

(C) O Buisness
Buisness
(D) O Invisibility
Invisibility

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

1.00

Question No.17

(A) O Guidance
Guidance
(B) O Temprary
Temprary
(C) O Absurrd
Absurrd
(D) O Financiel
Financiel

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

1.00

Question No.18

Our family doctor suffers from

Fill in the blanks with suitable Article from the given alternatives.

Arthritis
Fill in the blanks with suitable Article from the given alternatives.

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Operator_cum_Mechanic_Trainee.html
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Our family doctor suffers from Arthritis
(A) O the
the
(B) O No article
No article
(C) O an
an
(D) O a

a

Question No.19

Fill in the blanks with suitable Preposition from the given alternatives.

Nithish purchased a gift his wife
Fill in the blanks with suitable Preposition from the given alternatives.

Nithish purchased a gift his wife
(A) O along
along
(B) O during
during
() O for
for

(D) O about
about

1.00

Question No.20

Fill in the blanks with suitable Article from the given alternatives.

 am oldest in my family
Fill in the blanks with suitable Article from the given alternatives.

l am oldest in my family
(A) O No article
No article
B) O an
an
(C) O the
the
(D) O a

a

1.00

SECTION 3 - GENERAL APTITUDE

Question No.1

A man buys a CCTV Camera for Rs.1660 and sells it at a loss of 15%. Find the selling price of the
CCTV Camera(in Rs).
28 58 2.8 CCTV 820070 Rs. 1660 © £ oA 15% 38 dgonoercw. &8 CCTV 2o cdws)

30 8L BB EX0F Do (Rs. o).
(A) O 1311

1311

B) O 1411
1411

(C) O 1511
1511

(D) O 1211

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Operator_cum_Mechanic_Trainee.html
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1211

Question No.2

Karthik travels first 60 km of the journey at 60 kmph and the remaining 60 km at 120 kmph. Find
the average speed of the entire journey(in kmph).
B HAE0e5°D 2esed 60 km &0 5785 60 kmph Seso& 7, AdS 60 km o 120 kmph Stio& a5

DOIPAF. Do HAITEI0 ALY, Ve Sy (kmph &°) 82D
(A) O 80
80
B)O 78
78
(c)O 76
76
(D)O 74
74

1.00

Question No.3

Find the value of (a%-b%), given that (a2+b?) = 85, (a-b) = 1 and (a+b) = 13.
(a2+b?) = 85, (a-b) = 1 0803w (a+b) = 13 wand. (a%-b?) Dewdo T Hod.
(A) O 1105

1105

B) O 1009
1009

() O 1103
1103

(D) O 1101
1101

1.00

Question No.4

In a certain code language, if APPLE is coded as SDSHO, then how is DOUBT coded in that
language?
05 3E 8& 232065°, APPLE 956 SDSHO m €& Boedd, 8 23235’ DOUBT 956 der §&

Bosed008?
(A) O XFYSH

XFYSH

(B) O WLFYG
WLFYG

(C) O RGXWE
RGXWE

(D) O GRXEW
GRXEW

1.00

Question No.5

Find the value of (a-b), given that a2+b2 = 1010 and ab = 377.
a2+b? = 1010 208050 ab = 377 wand (a-b) DevHo SOF Dol
(A) O 18

18

B) O 20
20

() O 16

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Operator_cum_Mechanic_Trainee.html
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16

D) O 14
14

Question No.6

Find the next number in the series.
14, 16, 35, 109, ?
33" BT°(B Doy 0T ol
14, 16, 35, 109, ?
(A) O 457
457
(B) O 441
441
(C) O 435
435

(D) O 463
463

1.00

Question No.7

If 39% of A = 59% of 39, what is the value of A?
A &5° 39% = 39 ¢5° 59% 9003 A Jend Joeh?

(A) O 63
63
B) O 61
61
(C) O 59
59
(D) O 57
57

1.00

Question No.8

A shopkeeper earns a profit of 20% by selling an article at Rs.546. Find the cost price of the
article(in Rs).
28 DD Rs. 546 £ 0y 28 Bo5°es 020D 20% ergio Tocware. & HRPDIL §R) 66 do&

20800 (Rs.0e5°%)?
(A) O 466
466
(B) O 455
455
(C) O 444
444

(D) O 477
477

1.00

Question No.9

In a certain code language, if CHAIN is coded as GLEMR, then how is LEGAL coded in that
language?
058 §& 220e5°, CHAIN 9356 GLEMR ™ £& Ba0e0d &, 98 eaeS’ LEGAL 936 der §&

BoDercdB00d?

(A) O OVTZO
OVTZO

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Operator_cum_Mechanic_Trainee.html
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(B) O PIKEP

PIKEP
() O QFLJQ

QFLJQ

(D) O IPKPE
IPKPE

Question No.10

If 40% of 'X' is more than 20% of 845 by 309, find the value of 'X'.
845 ¢5° 20% goe3 ‘X'¢S° 40% A0g); Dead 309 & JT esot, X' DedRO LT Dol

(A) O 1195
1195

(B) O 1495
1495

(C)O 1295
1295

(D) O 1395
1395

1.00

Question No.11

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
LA aoé)‘)s"o Q0od TR DOB0/Dog/edtro 280 S &) w&as"fb‘l JotsoEod.
(A) O Brisk
Brisk
(B) O Slow
Slow
(C) O Rapid
Rapid
(D) O Quick
Quick

1.00

Question No.12

Replace the question mark with an option that follows the same logic applied in the first
pair

Frank : Direct :: Constant : ??

208 BSS° 5o FO)ToTI) WXDB0S QQ‘DSoS o) g %‘R"‘SQ Qrdocsod

Frank : Direct :: Constant : ??
(A) O Variable
Variable
(B) O Fickle
Fickle
(C) O Changing
Changing
(D) O Stable
Stable

1.00

Question No.13

A boy is standing in a lawn facing North-West direction. If the boy turns 65 degrees in clockwise
direction and 155 degrees in anti-clockwise direction, which direction will he face now?

28 700 DDYES” TaxD; BB VDADPOTT DL\ ET7) 6. €8 e V] &3S° 65 &fen 8N
DRO3S” 155 e B0NB, AL WYY D OFL VDANPDL Eotrc?
(A) O North-East
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éa?ézgo

(B) O South-East
esth) odo

(C) O North-West
T°0300050

(D) O South-West
3

Question No.14 1.00

A is twice efficient than B, who can finish the work in 74 days. How many days are required by A
alone to complete the entire work(in days)?

28 DI 74 BereS® 3370 Bosrie B S0é3 A Bocd Béw oS 000 SO, g DD A 28,8

QreBoHTEdd I Feren wdERPB006(Eed’)?
(A) O 37
37
B) O 38
38
€)O 39
39
(D) O 36
36

Question No.15 1.00

A is the husband of B who is the daughter of C. D is the daughter of E whose wife is C. How is D
related to A's daughter?

C 20578 ©900d B € A 258, C &0 ey So E & D ©80°3. @yt A 007380 D d0e°a0?

(A) O Sister
Q%30

(B) O Granddaughter
QDT

(C) O Niece
08w / St O3

D) O Aunt
@08l (D) [>G20y feogs)

Question No.16 1.00

Replace the question mark with an option that follows the same logic applied in the first
pair
Butterfly : Caterpillar :: Pig : ??
2068 288° HJod B°0) ST VHB0S DDyEoS Y)Y §E ) Wrdosod
Butterfly: Caterpillar :: Pig : ??
(A) O Joey
Joey
(B) O Kitten
Kitten

(C) O Shoat
Shoat

(D) O Puppy
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Puppy

Question No.17 1.00

The average of 17 consecutive numbers is 28. Find the sum of 17 numbers.
17 HH Qogo e 28 fz?éseo&o&. es 17 Doy apg"f\’)l S0 SR,

(A) O 496
496
(B) O 486
486
(C) O 506
506
(D) O 476
476

Question No.18 1.00

Find the value of X, if 25% of X + 40% of 155 =124
X &5° 25% + 155 &5° 40% = 124 9003 X Denddd £0FH0é.

(A) O 256
256
(B) O 248
248
(C)O 254
254
(D) O 252
252

Question No.19 1.00

If in the word UNIVERSITY, all the consonants are replaced by the previous letter in the alphabet
and all the vowels are replaced by the next letter then all the letters are arranged alphabetically,
which will be the sixth letter from the right end?

UNIVERSITY 53 5065°, 3g000) 8 00563r06" 7 85000500 09860805 20005 9500y 08

98 330 T ST €0) 8 G085 SEOYBER e HIEy BT SN $650e5°D evgTEOR
VEBIO Ei08" BB WoES” L& DHO ol WED VLG ID?
A) O

(B) O

o
O
ZTZT PO I O®

Question No.20 1.00
28t February 2023 falls on which day of the week?
28 22098, 2023 a60eS° O Fard H00d?

(A) O Tuesday
otiFTeGo

(B) O Wednesday
LAV Ty o To)
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(C) O Monday
D doT°G0

(D) O Sunday
OIS0

Question No.21 1.00

Find the next number in the series.
26, 27.5, 30, 33.5, 38, ?
335 307D Doy SRV,

26, 27.5, 30, 33.5, 38, ?
(A) O 43

43
B) O 44

44

(C)O 435
43.5

(D) O 42.5
425

Question No.22 1.00

79+16x12/(576+3)
79+16x12/(576+3)
(A) O 74

74
(B) O 80

80
C)O 78

78
D) O 76

76

?
?

Question No.23 1.00

Piku ran 6km towards East and took a left turn to walk 5km in that direction. She then walked 8km
towards East direction and ran 5km after taking a right turn. Finally, she ran 8km towards East
direction. How far is she from the starting point?

DL By B3S” BkM DTG DD AOH SkM HED0B. e e Brcdy O3S 8km HAD

DOEDDL BBA 208 5kmM OG0B, DHGT 0 BPEdy DD 8kM D8R0 9D A 6oz F*0
H008 ot BrGoeS’ &od?
(A) O 21km

21km

(B) O 17km
17km

(C) O 19km
19km

(D) O 22km
22km

Question No.24 1.00

Find the next number in the series.
453, 492, 466, 505, 479, ?
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33" S0P(B Doy X0F ol

453, 492, 466, 505, 479, ?
(A) O 518
518

(B) O 498
498

() O 489
489
(D) O 506
506

Question No.25 1.00

Pointing to a man, a lady said, "He is my mother-in-law's only son's son's father's sister's father."
How is the lady related to the man?
2,8 2DEG WPDYP, 28 Q ‘WA T GO IFE LIPEDD HIPEHE o F'B0S Bod” © BV, &

D &8 LDBES DDA ?

(A) O Daughter
SO0 Ved)

(B) O Wife
8:5"65

(C) O Niece
08 e | Sentaip LIXF

(D) O Daughter-in-law
Ecten

Question No.26 1.00

45 typists can type 45 lines in 45 minutes. How many typists are needed to type 90 lines in 90
minutes?
45 2000 SR 45 GH0 45 Do’ GO B, 90 P 90 ATes” BH Skt

20920080 Qﬁ)‘cg.)w 29DVBVNHTE?
(A) O 47
47
B) O 41
41
() O 45
45
(D) O 43
43

Question No.27 1.00

A Train travels at a speed of 54 kmph and crosses a signal in 59 seconds. Find the length of the
train(in metres).
54 kmph S0 Hc0R0) 28 Few 2.8 ) Sa 59 2EHS” TreB008. & Few TP SFdod

(oeoges’).
(A) O 885
885

B) O 886
886

() O 887
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887

(D) O 888
888

Question No.28
If January 1, 2052 is a Sunday, January 1, 2056 falls on which day of the week?
2050 1, 2052 es&T°60 5 2938 1, 2056 r60eS° O Ferd H006?

(A) O Monday
DTG0

(B) O Sunday
e3QT°Co

(C) O Friday
Bogodo

(D) O Saturday
3QT°Co

1.00

Question No.29

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
QDN aa:i)asw Qo0& D DESB0/Dogg/eLTre 2820 $A &Y az‘.’.)b?f()l JocEod.

(A) O UL

UL
B) O VT
() O PG

(D) O KB

1.00

Question No.30

Find the value of a2 -b?, if (a+b) = 77 and (a-b) = 13.
(a+b) = 77 H060s0 (a-b) = 13 eond a2 -b? DeHdo ST Dol
(A) O 1001

1001

(B) O 1003
1003

() O 1004
1004

(D) O 1002
1002

1.00

Question No.31

Which of the following years is a Leap Year?
800 TBS" B2 DodeB G0 DB?

(A) O 529
529
B) O 530
530
() O 532
532
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(D) O 531
531

Question No.32

If in the number 8946512736, first all the even digits are arranged in descending order and then all
the odd digits are arranged in descending order, which digit will be in the sixth position from the
right end?

8946512736 95 oges’, 2¢5e) O 700:;)503&&5 DT §008° 9200y € SELE B VoV

DT §2006° VBB DGO HDYD WogxeS” &G DDG Mol 6D (g»aoeS‘ &0 €908 DA?

(€) O
(D) O

N~ NN ©Oo AA

1.00

Question No.33

A fruit seller had some oranges. He sells 73% of oranges and still had 270 oranges. How many
oranges he initially had?
28 Dog HPDLD HG EDY T0oBD0E) &) 0. Wt S 73% DYRO WAL BTG VAIDY oS

270 Jr8o20¢0 DNHET) 0. SADE D €)Y T°B020Ed AN ?
(A) O 1200

1200
(B) O 600
600
() O 800
800

(D) O 1000
1000

1.00

Question No.34

The average of 4 numbers is 49 and the 15t number is 1/3™ of the sum of the remaining numbers.
What will be the first number?
4 Domge it 49. oS’ 15 Doz WA Dogw NGB0 1/3 Hodkd DeHX DA Eod. &8 BB

Qo] D0E3?
A) O 49
49
B) O 51
51
) O 47
47
D) O 53
53

1.00

Question No.35

Find the average of 8 numbers 46, 40, 35, 44, 21, 52, 74 and 82.
46, 40, 35, 44, 21, 52, 74 508050 82 3 8 Dogdge) Wit S0 SoC.

(A) O 50.25
50.25

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Operator_cum_Mechanic_Trainee.html

1.00

20/42



1/17/2020 Operator cum Mechanic Trainee
(B) O 48.25
48.25

(C) O 49.25
49.25

(D) O 47.25
47.25

SECTION 4 - DOMAIN - OPERATOR CUM MECHANIC TRAINEE

Question No.1 1.00

One mega-ohm is equal to
208 DoTP-£,a0 £ DAPH0

(A) O 1000 kilo ohm
1000 &&° &2y

(B) O 100 kilo ohm
100 &6° 850

() O 1000000 kilo ohm
1000000 $&° &S0

(D) O 10000 kilo ohm
10000 &6° &50

Question No.2 1.00

What type of pliers is made with tapered round shaped jaws and are used to shape loops in wires
and to form curves in light metal strips?
P56 Bosed, Mo e (o '’ ©F Sar Bohed DY LrdVK 958 BoHEIS LK

BOEF S’ POVS® HprOR ErToBoSEIS &I 756 BEo?

(A) O Circlip pliers
2635 poiby

(B) O Flat nose pliers
T S5 sy

(C) O Round nose pliers
Go& S Hansy

(D) O Slip - jiont pliers
Q0-27000¢85 HODEY

Question No.3 1.00

Which type of straight edge has an acute angle of 60° and is used for checking internal angles?
9 65200 PowtS E 60° o ey $9ADE wodds Erreadn 3P BoLEIS EDOIrASEB0R?

(A) O Copper straight edge
o006 R0 IED

(B) O Cast iron straight edge
SR DO RO G
(C) O Steel straight edge

5365 2200085 A&D
0 & &

(D) O Tool maker's steel straight edge
eSS 086y ?36 Rows A&
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Question No.4

Calculate the cutting speed of drill bit, if the diameter of drill bit is 20 mm and spindle rotates at
320 RPM.
G Q& ag); Tego 20 MM S000K0 Dyo&d 320 RPM 5¢ Stbrbdu) e, &S DE dins); 8of

351'1".‘0‘)' e_)'ébo::ﬁo&.
(A) O 20 M/min

20 M/min

(B) O 35 M/min
35 M/min

(C) O 25 M/min
25 M/min

(D) O 30 M/min
30 M/min

1.00

Question No.5

When the open circuited resistor is checked by an ohmmeter, it will show
509 :od:obﬁe':s& T0KE 0 28 L0E & BID BB 9B B0

(A) O Zero value
TR Ded

(B) O Infinity value
o Jewd

(C) O Unity value
0300e B (2088) Dewsd

(D) O Low value
Oy Jensd

1.00

Question No.6

The full form for MCB is
MCB c3g), 3578 600

(A) O Miniature Circuit Breaker
DoDabe6 w5 §56

(B) O Minimum Current Breaker
DAdvo 8605 356

(C) O Maximum Current Breaker
doefdvo S80S 886

(D) O Maximum Circuit Breaker
D00 OIS B8

1.00

Question No.7

The tool is used for closing and locking of seams in sheet metal
25 2065S° 2oL F2oh 0B erdoh FEH DBV EDAIPAOSLIEIBI0O?

(A) O Caulking
o) 06

(B) O Rivet set
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B ¢S

(C) O Rivet snap
0D ) D

(D) O Groovers
Qr:béb

Question No.8 1.00

Which type of hammer is used to stretch the sheets to increase the length of the sheet and mostly
used in raising operation?
2030 FAGD STP(O° 5 R0, FEDO DoSEPAS LBAK JEN I Toh DNTUYES’ D BEROD

DB(R0620 EDBTAFED?

(A) O Stretching hammer
JDoh BEg6
&

(B) O Hollowing hammer
¢ an0h D806

(C) O Bullet hammer
20GES :)‘5.;505

(D) O Riveting hammer
B3E30h (206

Question No.9 1.00

Which type of bolt is used when the assembly is subjected to alternating load conditions
continuously?

29208) DBodBo IS (3938) Voh) &°& HOPBOD S RADFDNE D BER0D &5°S
EDATPA0TILIEIH0A?
(A) O Stud

Q&

(B) O Body fit bolt
& 5 &S

(C) O Hexagon head bolt
Ta & Y

(D) O Anti-fatigue bolt
aSot3-re3h stgg

Question No.10 1.00

The material used in solar cell is
e 2065¢5° &HABTAoD dego

(A) O silicon
RTINS

(B) O silver
Doc

(C) O carbon
svda."o

(D) O barium
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£36a30

Question No.11 1.00

The material used as a fuse wire should have
@55, DA &AM DEgo &AL Td

(A) O High resisitivity
068 T3S

(B) O Low conductivity
Ry TS0

(C) O High melting point
0OE BDLBHD 0

(D) O Low melting point
wOy GIBDD &0

Question No.12 1.00

Drill sleeves are made of
&S dden B SafreBoeEBRon

(A) O Case hardened steel
80 1*ZDG HS
(5]
(B) O High carbon steel
o (5]
(C) O High speed steel

(D) O Tool steel
e S

Question No.13 1.00

If the 3 ohm and 6 ohm resistors are connected in parallel, then the total resitance of the parallel
combination will be
3 8,000 803 6 Lo 6‘?07893 RAFoHGoTe EeHed eoés, DN &8 DAT0BE VoS GIE), wwdo

TS50

(A) O 18 ohm
18 &udoen

(B) O 2 ohm
2 L0

(C) O 0.50hm
0.5 &d0en

(D) O 9 ohm
9 &d0ew

Question No.14 1.00

What is the name of the tool used for Scribing the lines to indicate the dimensions of the layout?
SeosHed o&nsb Feordten Lrdowstrdd Agen AOLERIS &AL HDOEGO DE ADVE?
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(A) O Scriber

b

N

(B) O Punch
FOTeIR)

(C) O Surface plate
08y 65

(D) O Angle plate
SroneS D5

Question No.15 1.00

The taper pin is specified by
€506 :“bml D BODCS00H?

(A) O Small end diameter of taper pin
E856 DD g, D) ED Togood

(B) O Small and big end diameter of taper pin
B8 DS g, DD) B0 DG ED g0
(C) O Length of taper pin
&6 DS g, FeHE

(D) O Big end diameter of taper pin
6 DS AN, DG ED TR0

Question No.16 1.00

What type of test is used to find the leakage in fabricated tanks or containers?
FIOEOE erjoren oo SoBoges’ DELD RIS D BERVD HOLID EDBrAYD?

(A) O Fracture test
@"Sas 93(:\3

(B) O Gamma rays test
e 55 89

(C) O Bend test
Bo& 9353

(D) O Water or Kerosene oil gravity test
06 For 8525 wand prdd 63

Question No.17 1.00

Number of diodes required for a full wave bridge rectifier is
28 DS DO Q& 930S ERo VDRI CAIrE Koy

(A) O

o
O
WW NN == A
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Question No.18 1.00

The Symbol of a battery is
8 za”zgé.)é ABoog); V) o

(B) O

Question No.19 1.00

What is the name of the test used to detect the defects of welded joints in ferrous metals?
PGS S'F0ES’, Dohl B2Y BP0l SRR HYOBEEIS EDATNOD DOL DA IO?

(A) O Bend test
&o& éBED)

(B) O Gamma rays test
mar 55 89

(C) O Fracture test
é"gaé 63533

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Operator_cum_Mechanic_Trainee.html 26/42



1/17/2020 Operator cum Mechanic Trainee

(D) O Magnetic test
Qoegy 38 e3f3

Question No.20

When the length of a conductor increases its resistance will
28 octgb(Tirgo) AINE), Tt PONSB, T BRROY(DT'o)

(A) O remain same
Pebyleln b

(B) O become zero
e“o.)a“l €9:)00d

(C) O decrease
e‘.’sg.)e‘.‘&)oﬁ

(D) O increase
FolobTo bl Nr Yol

1.00

Question No.21

What is the full form of SCR, in 'SCR emission control system'?
'SCR 2030 €otf’sS 20" &°, SCR cing); 278 60 DE?

(A) O Selective Catalytic Response
20D SYDBE Iy

(B) O Selective Control Response
?0&)%5 So§6 55"353

(C) O Selective Control Reduction
POZD LoS’S 0L

(D) O Selective Catalytic Reduction
2oFd sedBs BELD

1.00

Question No.22

In EGR emission control system, which harmful gas is reduced?
EGR egrs dosooges ,;55;5:365, D TFISERVD TPOIY SAOBeIEB0E?

(A) O Carbon Monoxide
6N GG

(B) O NO,
NOXx
(C) O SO,
SOx

(D) O Hydrocarbons
TESG

1.00

Question No.23
According to BIS, the feeler gauge consists the range of thickness from to

BIS 95°60, 206 B& 200é 206ES® 20y EDADLS

(A) O 0.04 mmto 1.2 mm
0.04 mm to 1.2 mm
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(B) O 0.03 mm to 1 mm
0.03 mm to 1 mm

(C) O 0.05 mmto 1.6 mm
0.05 mmto 1.6 mm

(D) O 0.06 mmto 1.4 mm
0.06 mmto 1.4 mm

Question No.24

What is the class of fire, if the fire involves metals and electrical equipments?
S00re %o J0BAKD DES DOET VL TR, WO D BEAS ot?

(A) O Class "A" fire
S3HD "A" Loty

(B) O Class "C" fire
S30D "C" ookd

(C) O Class "D" fire
S "D" Hoosd

(D) O Class "B" fire
&30 "B" ooty

1.00

Question No.25

The sequence of operation in a four stroke cycle engine is
28 %6 F°E 23S Qo DS’ Sov o

(A) O Compression, Expansion, Suction and Exhaust
RoDEB0(S0RAD), DYBe0(DEVFHD), e (RLD) 00 Y

(B) O Exhaust, Suction, Compression and Expansion
IR, (L), VoEDo(L0PRD) H0a% IYCEI(IENIID)

(C) O Suction, Compression, Expansion and Exhaust
S0 (RLD), 2odEDo(EopaD), DYCLC(IEYIRD) W8AH D

(D) O Suction, Compression, Exhaust and Expansion
SA(RED), ©0ED0(E0RD), AR LB DRYBea0(AEVI D)

1.00

Question No.26

The blade of screw driver is made of
Ry @06 diwg), B @ SOIPESTCDS0H

(A) O High carbon steel
Fou s"dbfo ?395

(B) O Alloy steel
9e°0%) 26
& ®
(C) O High speed steel

(D) O Tungston carbide
©0h O 5yE

1.00

Question No.27
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Which type of occupational health hazards controls/deals with the person who has wrong attitude?
SBEDYE PV (f HEE D BERD HBDERVD BTrif DI OGN/ BYDLPOF0N?

(A) O Psychological
BdDE

(B) O Chemical hazards
SF DD DI

(C) O Ergonomic hazards
G HE(R20GS) DavrTren

(D) O Physical hazards
FAE DAFTED

Question No.28 1.00

The component that connects the steering rack to the knuckles is
2006 T80 DDHS\E EBD 0OEC0:

(A) O cylinder
0®ocsd

(B) O pivot
298

(C) O piston
25

(D) O tie-rod
8-o°&

Question No.29 1.00

When the 2 capacitors of 4 micro farad and 6 micro farad are connected in series, then the total
capacitance will be micro farad.
4 o8 F6E 206050 6 o8 F6E (o 2 SO 36 VDI, JGo SIVEDy

28 F6E 9 HB006.

(A) O 1.5

15
B) O 2.4
(c)O 10

(D) O 24

Question No.30 1.00

Wheelbase is the distance between the
20685 AP 565 855 evotrdd

(A) O centers of the front and rear wheels
S00068) B80T DY 5P Sogren

(B) O two extreme ends of the vehicle
TPED0 AB0E); Botdd N0 otioen

(C) O two rear wheels
Boch DRV e
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(D) O two front wheels
G0 S0 BIzPL

Question No.31 1.00

Two resistors of 4 ohm and 8 ohm are connected in parallel. If the current flowing through the 4
ohm resistor is 12 amps, then the current flowing through 8 ohm resistor is
4 &0 08050 8 &anen (10 Botd BRYPE> VATPoSEOT SLVDRIG &%) . 4 & BRY6 t(oe

QD0 88085 12 es0dy oS, 8 L0 BRPS TP T° P20 STt

(A) O 6 Amps
6 QBOE)D

(B) O 2 Amps
2 930:_)‘3

(C) O 0.75 Amps
0.75 es0Dy

(D) O 3 Amps
3 9:90533

Question No.32 1.00

What type of test is usually used on high quality jobs like boilers and high pressure vessels ?
POV HOBOK T P26 DS Hotd WA ey (o erBdUP T Eea0Te Q BERVD HOLD

EDATAFE?

(A) O Radiographic test
diargros 89

(B) O Fracture test

(C) O Soap water test
FO 6 63

(D) O Bend test
&o& e3§3)

Question No.33 1.00

Which type of tool is used for setting and adjusting the tightness of nuts and bolts to a desired
value?
0 200050 &5’V SPBRVX DL DHEBL B DTN BOLTEIS D BERD Do

&DA3TA0ILICIH0D?

(A) O Torque wrench
e38); Bod

(B) O Pneumatic ratchet wrench
2058 TR Bod

(C) O Power wrench
056 Bod

(D) O Air ratchet wrench
2od U°5:3é5 3od
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Question No.34 1.00

Convert the 232 mm+12.7 cm into cm
232 mm+12.7 cm & cm &°Q8 RSN

(A) O 23.2cm
23.2cm

(B) O 244.7 cm
244.7 cm

(C) O 129cm
12.9 cm

(D)O 35.9cm
359 cm

Question No.35 1.00

The full form for HRC fuse is
HRC t.fqyzgeﬁ ABoog), G 6o

(A) O High Rupturing Capacity fuse
2 60006 SFDS [y5E

(B) O Helium Rupturing Capacity fuse
Do 6300h SIS &

(C) O High Rupturing Current fuse
° di)abof) 8605 ‘593“525

(D) O High Return Capacity fuse
T 006 BB B

Question No.36 1.00

The active material of the positive plates of silver-zinc batteries is
20 6-208 erjtabe B DKL I ol SoirIv dergo:

(A) O Lead
Sé&

(B) O Lead oxide
O& 8 \&

(C) O Zinc powder
208 &6

(D) O Silver oxide
"0055 esgb&

Question No.37 1.00

An ammeter used to measure the DC current should have
DC £60t5:0 §0dtedS e0arA0d 2.8 )06 £9AD0Td

(A) O High resistance
068 IFeo

(B) O Low resistance
oy TG0

(C) O Low inductance
®Oy faocngb
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(D) O High inductance
HS faoc:g‘Sb

Question No.38 1.00

The most common applications of MOSFETs in digital circuits is due to
a2 706"’1,5%966 MOSFET &0 d3ng); @dfos Ferdom edrosteds sedo:

(A) O cannot work like FET
FET er 5 oo

(B) O less noise
e:es%:.s éed)o
(C) O small space it takes
20 D) YO ALV

(D) O less power consumption
L0 D56 D@0

Question No.39 1.00

Which device is used for removing the drills from sleeve/sockets?
2D e/FBY 2008 GSY0 FONSEEIS D DOECo EDATAOSLCDB0E?

(A) O Soft hammer
g D06

(B) O Wooden piece
&R DD

(C) O Chuck Key
8 &

(D) O Drift
&3

Question No.40 1.00

A PN Junction diode conducts only when
28 PN 2080 €aIrs I 25r@ad Srirgdo Binod?

(A) O No voltage applied across
SFE 000NN

(B) O Forward biased
F6¢6 LoD
G G

(C) O Connecting anode negative cathode positive
AP SED DABOL, SYEEL FRADLH EDDID YW

(D) O Reverse biased
0&‘)5‘3 &)055";?

Question No.41 1.00

Which safety signs especially benefit to personal safety?
D HET® DoBTren D&Y HEBL PBJSorr YATB0 BEFEOFAN?

(A) O Warning signs
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bvéabs Lo3Tren

(B) O Pronhibition signs
JRHS DoSTren

(C) O Information signs
DAY DoSTEeD

(D) O Mandatory signs
BB (Lwegodierd) voSeren

Question No.42 1.00

Which safety device is used for the protection of head from falling of objects?
DD BV :)&é@bci) 2068008 Q BET® HOEGO EHDAITAOILICIB0H?

(A) O Cap
5‘553
(B) O Helmets
TG0
(C) O Safety shoes

VoL ALY

(D) O Face shield

D S
[~

Question No.43 1.00

In electrical installation, the fuse is connected in series with the
JVZES ADPTNDS’ 35S & 363¢5° SenDdotod

(A) O Phase
DS

(B) O Protective Earth
TO3S 26

(C) O Neutral
o S

(D) O System Earth
9'0':,‘30 26

Question No.44 1.00

In reverse bias, the varactor diode the capacitance
056y 2035006 TG0 CAIPE SIDEOYRO

(A) O decreases
S02006

(B) O will surge as pulse in
DSYS® D DSBS

(C) O keeps constant value of
?86 VDI €00

(D) O increases
DotB0D
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Question No.45

The straight shank drills are held in

1.00

R0E Frob &Sy &5° ocseciEran

(A) O Socket
3¢5

B) O Drift
ao
e
(C) O Sleeve
)

(D) O Drill chuck
&6 38

Question No.46

of open-ended spanner is not possible?

E&DATA0ILICIH0A?

(A) O Double-ended spanners
22085 oGl AryOE>

(B) O Ring spanners
80k S-Ségg

(C) O Single-ended spanners
2005 Jo&& 5"3«690

(D) O Adjustable spanners
GRS FyIE

1.00

Which type of spanner is used when obstruction close to the side of a nut prevails and application

85 QY DD DA BT S0 &0G LDD-VoBE F D6 DRI FEfo 52 S D BEPD D6

Question No.47

(A) O SMAW
SMAW

(B) O GMAW
GMAW

(C) O Gas welding
S 38oh

(D) O GTAW
GTAW

1.00

Which type of welding process is cheap, portable and versatile?
D 68205 Dok HAD WHFIA, WP SROED D¥IOHEG O DDD) VAFBTL SDADEG?

Question No.48

kg/ft?

&ot0od?

(A) O 1.771 kg
1.771 kg

1.00

What will be the weight of one piece, if 200 mm length of cable cut from a cable weight of 2.7

2.7 kg / ft 008082y Se&5 &ood 200 mm Desad) o Seaes &85 32, 28 2008); g LY Dod
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(B) O 1.575 kg
1.575 kg

(C) O 1.525kg
1.525 kg

(D) O 1.48 kg
1.48 kg

Question No.49 1.00

The electrons available in the outermost orbit of a material is called
28 DTG0 CINE) WeAF0eh eIy LIS OTBFIADY JVTHRD 0 DRVFE

(A) O Free electrons
DRy DOTPRO

(B) O Valence electrons
TFTQy dOTR

(C) O Maijority carriers
208 SHO0E

(D) O Minority carriers
2008 S2500HE

Question No.50 1.00

The material which easily allow the electricity to flow through is called
s'.)cs.)ge}.)?o.) ROV T 0030 :.)m*’g’f\')l €90¢3°30

(A) O Conductor
8ot g6(arrEo)

(B) O Insulator
@mssejébé(i)c&zgcﬁaocﬁe‘éo)

(C) O Semi conductor
e.oga*’w’So

(D) O Resistor
3218

Question No.51 1.00

The reciprocal of the resistivity of a conductor is called
SocigH(orirso) DB GES avg), DS HrDY 9083050

(A) O Specific resistance
D35 o

(B) O Impedance
'9033@53

(C) O Flexibility
FERALLIEER))

(D) O Conductivity
a"f’a"saso

Question No.52 1.00
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What will be the current flowing through the 25 ohm resistance if it is connected across 200 volt
DC supply?
200 ¢ DC 2600 Een0edSine 25 £:80y BRRDY Mot Hd2rothy E60t Joh?

(A) O 1.25 Amps
1.25 93053‘)

(B) O 8 Amps
8 Gofbb

(C) O 0.8 Amps
0.8 Qﬁoi)b

(D) O 0.125 Amps
0.125 Uof)b

Question No.53 1.00

Which type of screw is simply hammered into a drilled hole and make permanent joints?
9 620D 1R GPoh Bogoes’ IS E'Q T3S &Pa0kd DBYBSHIN?

(A) O Hammer-drive screw
HF§06-2D By

(B) O Self piercing screw
7069 30025.)0‘306 QY

(C) O Self tapping screw
706; e3°53305 0%y

(D) O Sets screw

Question No.54 1.00

Which tool is used for marking the lines clear and deeper in sheet metal shop?
22 GHI0 VYR 2000 S'Hore 56 Bk S DS LD D HABED

&3P A0IIEIBH0H?

(A) O Straight scriber
20008 2,26
& =

(B) O Off set scriber
&3 0¢5 20,206

(C) O Scratch owl
3,5 BS (owl)

(D) O Bent scriber
&0o¢5 20,26

Question No.55 1.00

Transistor classified in TO-3 packaging code is a
TO-3 r§80h EES® 588003¢ E&PINRS:

(A) O No Power Transistor
SECRIE RN

(B) O Medium Power Transistor
D& oso DOE AV
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(C) O High Power transitor
Fo DHE ;e._;‘:)b‘(g5

(D) O Low Power Tranistor
& D06 &rAYR6

Question No.56 1.00

Which safety device is used for the protection of nose from dust particles?
208 S°AS B0y, SEren D EH0TR VOBLoML D BET® HOEC0 EDAIPACSEBIE?

(A) O Nose mask
S 3

(B) O Helmet
331’93&65
(C) O Hand gloves

(D) O Ear plug
2006 A

Question No.57 1.00

The internal resistance of the alkaline cell is nearly times of that of a lead acid cell.
30) B 26 BwE), WosEs B0 T&E AIrdE S cInE), WosEd TS T Bew

00O’

(A) O four
e

(B) O two
Boc

(C) O five
Celab)

(D) O three
QATPED

Question No.58 1.00

As per Ohm's law, the current flowing through any closed circuit is
&0 oo PS5G0, B §&EE& mdr65e5 Aot Do EG0eS

(A) O Directly proportional to the resistance
IS 930S A B0eS” &o0e08

(B) O Directly proportional to the voltage
SFED 0 eI B0’ Gotnod

(C) O Inversely proportional to the square of resistance
Do g, HTIS DS’ BP0’ e0t00

(D) O Inversely proportional to the voltage
SFED DS APLF B0’ Gotwod

Question No.59 1.00
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A micrometer has positive error of 0.04 mm, what is the correct reading when the micrometer
measures 37.08 mm?
208006 0.04 MM 5 Sy £ 06, 20EE 37.08 MM Ecoh SrLIDE VFD bdoh IDB?

1 T

(A) O 37.04 mm
37.04 mm

(B) O 37.00 mm
37.00 mm

(C) O 37.16 mm
37.16 mm

(D) O 37.12mm
37.12 mm

Question No.60 1.00

Hardened cylindrical pins are available with dimensional tolerance of
5°80E 2DoGES DOy EDOPDES B (BaH W3THIS)E DI oW

(A)O M8
M 8
B) O M4
M 4
(C)O M7
M7
D)O M6
M 6

Question No.61 1.00

What type of error will occur while reading the scales and instruments with dial test indicator?
GO B WoGELESE )40 00K DOST L 8o BROEJELIDYED D BER0D B0 WoBIR?

(A) O Temparature error
e o S (Bo05e6 J66)

(B) O Accidential error
€20 B0 (CIrSyEIaDHES JG6)

(C) O Random error
003y Sarew (o°jocto Aby)

(D) O Observation error
D80T S0 (088D I6)

Question No.62 1.00
When the output voltage is increased, the battery cells are connected in
EATST o) Sggé DBABIDYED, efad Sy &S° Senderdaron
(A) O parallel
RAroB80

(B) O postive to positive ,negative to negative
FRAD 200G FPRBDOL, DD ol DABOL

(C) O series
35

(D) O opposite to each cell
2,8TPAEER DT

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Operator_cum_Mechanic_Trainee.html 38/42



1/17/2020 Operator cum Mechanic Trainee
Question No.63

In which part of the outside micrometer, the datum line and graduations are marked on it?
BESRE 26 GBog), D arriog B GO 0050 TP eE) Saberaran?

(A) O Barrel
e§8S

(B) O Spindle
20a¢5

(C) O Frame
£H%

D)O Thimble
HoeneS

1.00

Question No.64

Convert the10 square meter into square inches
10 6D QeIGRD BB orbwrees IS JrGyol

(A) O 15499.96 square inches
15499.96 665 othHwren

(B) O 15.499 square inches
15.499 ©5¢565)) eorween

(C) O 1549.996 square inches
1549.996 ©5¢5683)) eorireeen

(D) O 154.99 square inches
154.99 5¢365) eorween

1.00

Question No.65

Trickle charging of a storage battery helps to
28 JBE ergead cBog); B3 foh B HBFoRLIDBCR!

(A) O keep the battery fully charged
wzgeoéz) PO esD 3o oSS

(B) O increase its reserve capacity
26 &mg"ﬁb‘l 00

(C) O maintain electrolyte level
QOETE(Desoge §aes) o DEETeDH

(D) O prevent sulphation
{06;:.15(63 QPOoTILIL

1.00

Question No.66

The cut-in voltage of a silicon dode will be
DO GaIrE qig) 8-S SFE:

(A) O 0.1v
0.1v

(B) O 0.4v
0.4v

(C)O 0.7v
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0.7v

(D) O 0.3v
0.3v

Question No.67

What will be the result, if the drill point is not being at the centre?
&¢5 ronotS Sogdo D¢ FED°B HABo AA?

(A) O Overheated drills
GBSy e SR8 0

(B) O Rough holes
AASS Sogren

(C) O Unequal flow of chips
DBV €508 WDy AIVE); YI™T°0.

(D) O Oversized hole
Gogo DYBDEo

1.00

Question No.68

If a 200 Volt lamp draw a current of 0.5 amps then the rating of the lamp is
200 e 630 0.5 50Dy §0t550 SO, Bdo c3wg), Bdoh

(A) O 200 Watts
200 om0

(B) O 400 Watts
400 oo

(C) O 250 Watts
250 oo

(D) O 100 Watts
100 oeen

1.00

Question No.69

The process of making a hole in sheet metal is called
2t 20e0e5e5° 208 Gogdo Bt HEHXL 99 2VFE

(A) O Punching
Dodoh

(B) O Drifting
éaoh
e
(C) O Braising
Qa‘;’,oﬁ

(D) O Crimping
Sooh

1.00

Question No.70

When the 4 resistors of different value are connected in series, the total resistance will be

DD Dewdew (o 4 BRPE 363S° £D1B, Dwdo AT 0(BRYRDY)

™
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(A) O Equal to the value of the larger resistor
bg) 6".0:“85 QDRNDE AP0

(B) O Less than the value of the smaller resistor
&é‘l 8236 Dend Lokl EEURY
e
(C) O Less than the value of the larger resistor
bc{g 6"0(85 Dend Lokl eés.)zjé

(D) O More than the value of the larger resistor
bg 6?0‘{35 Dend ot DSJZJ:)

Question No.71 1.00

The selection of size/diameter of electrode depends on
JVEE AL DO TG0 IV Do D TPEOE Gotod

(A) O Position of welding
2)205 «g"{bo

(B) O Thickness of metal to be welded
DS BapIOBD &'Tro Aotso

(C) O Type of transformer
ErONI6L 6 B0

(D) O Job material
E) drgo

Question No.72 1.00

When 4 number of unequal value resistors are connected in parallel across a DC supply, then
which one is the correct statement?
4 e93550°0 DendHen (v 6?0;8((3) 208 DC 268H0°% Daaross@orr Sw:)&)&é@bcﬁo, Hedes® B LS AB?

(A) O Current flowing through the each resistor will be same
OB B T(or YO0 ST 28 DGorT €:06000

(B) O Power consumed by the each resistor will be same
OB 8PS AWML DDE VAT €0eod

(C) O Quantity of electricity passes through the each resistor will be same
OB BIPS (ot YOTPotsd DEIBO QG0 DB €080

(D) O Voltage drop across each resistor will be same
1) 6’«0‘(856‘ Sgga@ PO (Do) 28 Deorr &otod

Question No.73 1.00

The major load for Lead acid Battery used in automobile is
S A0BSS” EDATNo & airdE ergedd Yord S°6

(A) O Rear lights
DR0E Tew

(B) O Spark plugs
FN8). Deoen
b B4

(C) O Starter motor
g»gs Arerd

(D) O Head lights
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& gy

Question No.74 1.00

What is the name of stake used for making a small diameter of tubes with thin gauge metal?
20 8 68 g0 &' D) THIen (o FEFo SaIPEOBOLL EHOAPAo RE HEH?

(A) O Copper smith stake
5006 ?o&é fgé

(B) O Creasing iron
8206 065

(C) O Hatchetstake
B 28

(D) O Half moon stake
D 20 35

Question No.75 1.00

While charging a lead acid battery, the density of electrode will
O& airRdé a6 e9D3cko(eQoh) B0 2D, JVEE g Fogd

(A) O constant
?8601'1‘ €000

(B) O fluctuate
TN IO S DDA

(C) O increase
Foloblo bl NE Yol

(D) O decrease
e‘.‘ég)e‘.i)o&
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